LABJNDu2 standard lightnessI*
I* Ync YW nc_loox

1*1 aganpu2 =[IN[A 1n+A2nY)I(A 20A0n)] (Yn/100<Y<=Y,c)
¥ \(316)=174/* ,(18)=396 [* y(90)=616

log[I* /I* ]=0, m,=0,33
L* =49, * ;=396
I* 0=615,73, Ay 1,5/ !
I*16=395.50, A=0
I3 e=173,04 1% 3¢

1Y,=18

)

LABJINDu2
tristimulus value difference

Yoc=Yw nc=100,
1% Aanpu2 =INI(A 10+A2aV)II(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  A4=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
30=0,67, Aoy=1,500, ¢=0,84

dY;4=0.15. A1=0.014, Agn 0,0048
dY3,6=0,04 Y,=18, dY=0,15 /,

*,=396 dY,=0,15 dY,/Y,=0, 0084

log AY/Y)

YN=3.6  Yy=90
LABJINDU2

_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

"1 AganDu2 =[IN[A 10+ A2 YVI(A 20A )] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY

(dY/Y},=0,0075, Ay 7L
(dY/Y)g=0'0084, A =0 ,Ag
(dY/Y}=0,0133 Y, 1& dY=0,15

0, O

~

log(dY/Y)=-2,07, rr\,-—O Iv: e
I*,=396 dY,=0,15 dY, lY 0 0084|
1

application
S=Tange

1
1Y,=18

log (Y/AY)

Yn=3.6  Yw=90
LABJINDu2

tristimulus value contrast
Yoc=Yw =

e=100,
"1 aganDu2 =[IN[A 10+ A2 Y)I(A 20A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=132,52, Ay=1,500, 6=0,84
(Y/dY)g=117,67, A=0,014, A, =0,0048
(Y/dy! H5 42 =18, dY=0,15

C,=(Y/AY)

* ;=396 dY,=0,15 Y,/dY,=117
Iog(Y/dY)=2,07, m,=0,13 - =~ ~
Y

application
range

Y,=18
1Y(y=90

1
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1
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e — 8
Yn=3.6

=
el

Iog(AY/AY )

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJINDu? relative standard lightnessl*/I*

1%/1% u Yoc=Yw nc=100,

%L aganbuz =[IN[A 17+A2nY)V(A 20A0n)] (Ynd/100<Y<=Y,0)
1 \(3:6)=174/* ,(18)=396 1* y(90)=616
I* ool (=155, Ay,=1,500, ¢=0,84

I* 191" ,=1,00, A/ =0,014, 4,0,0048
I* 3 ¢l¥,=0,43,¥,7395 50 Y,=18

log[I*/I* ,]=0, m,=0,33

L* =49, I* =396
application
range

Y,=18

MN=36 | Yg=90

LABJNDuU2 relative
tristimulus value difference

Yoc=Yw - nc=100,
1%L aBaNDu2 =[IN[(A 10+ A2nY)J(A 20A0n)] (Yd/100<Y<=Yc)
AYIY,=AgfA 1 +AgYIdY,

dYor/dY,=4.43, A=1.500, 608

Y, g/dY, =0,014, ! 04
deQdY 031\‘?1 =18 dY= 82,

AY/AY,

p”
I*,=396 dY,=0,15 dY,/Y,=0, 0084
application
range

1Y,=18

Yy=90

LABJNDuZ relative

tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY

L aganpuz =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
@YIYYAYIN=(Ag A )IY(AYIY)]

(dY/Y}/(uV/Y)=0,88, Ay=1,500, ¢=0,84

(0]

8
(dY/Y)g/(dYrA=1,00, A =0,014, A,=0,
(dY/Y%vd(dY/YL—-l.SG Y. 518 dy=0.15

048

log[(dY/YY(dY/Y)J=0, m=-0,13 1
I*,=396 dY,=0,15 dY,/Y,=0,0084
1y,=18

application
range

Yn=3.6  Yw=90
LABJNDuZ relative
- tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v 2y ™ 2100,
L aganpuz =[IN[A 17+A2nY)V(A 20A0n)] (Ynd/100<Y<=Y,0)
(YIAYY(YIAY)=(Y/YIAY L) [A oAt Ao (YIAY),
(Y/dY}g/(YIdY)=1,12, Ay=1,500, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A =0,014, A,=0,0048
(Y/dY} ¢/(Y/dY)=0,64 Y,=18 dY=0,15

1 application
1 range

1y,=18

Yy=90




